
INSTALLATION INSTRUCTIONS

Technical Summary
ADB-B200T

1. Attach brackets to display 2. Mount display on rail

COMPONENT CHECKLIST

C

C

B

B

A1 A2

A3 A4

PRODUCT DIMENSIONS

Item Name

M5 x 15mm Screw

M6 x 15mm Screw

M8 x 15mm Screw

M6 Washer

Tilt Bracket - Left

Tilt Bracket - Right

QTY

A1 4

A2 4

A3 4

A4 4

B 1

C 1

Height
adjust

Safety
screw

B

A4

A1
A2
A3

Locking
screw for
fixed 0°tilt

6.0°

42mm
(1.7”)

60mm
(2.4”)

45mm
(1.8”)

2
0

0
m

m
 (

7
.9

”)

13
1.

1m
m

(5
.2

”)

Levelling
Screw

Locking
Screw

ADB-B200T Page 1 of 1atdec.com

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.
Due to continuing product development, the manufacturer reserves the right to alter specifications without notice. ©20210317

ADB VESA 200 Tilt Brackets

5mm

12
m

m
 (

0
.5

”)
b

e
tw

e
e
n

 h
o

le
s

 5.0° 

 10.0° 

 15.0° 



Tilt 0°

50

10

15

1

2

Tilt 5°

2

Tilt 10° Tilt 15°

0 5

10

15

1
0 5

10

15

0 5

10

15

0 5

10

15

2

1
0 5

10

15

0 5

10

15

ADB-B200T Page 1 of 1atdec.com

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.
Due to continuing product development, the manufacturer reserves the right to alter specifications without notice. ©20210317


